Seat No. :

DC-106 _ .‘
December-2013
B.Com. (CBCS) Sem.-111
CC-205 : Fundamental Statistics — 1
(Compulsory Subject) ‘
[Max. Marks : 70

(New)

Time : 3 Hours]

YAl : (1) wHell dRsL 253 2.l sald .
Instructions : Figures to the right denotes m
y (2)  AEL ARl Bualal 571 2wk
Simple calculator can be
. (a) ¥™Adl:
Explain :
()  uMi [a4y '

Equal Function
(i) [adud
Contin

(iii

25 qgeAl x sHl WAl Gaulet Wl [EEy C = 50x + 600 © - Ul 2154
uaBud T 65 €. unde [Big 21 T 900 51 Haadl sedl »isHl Gauiled sl
uld d alsl. 5
The cost function of producing x units of an item is C = 50x + 600 and the selling

price per unit is ¥ 65. Find break-even point and the number of units to be produced
to get profit of T 900.

| 244lOR
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% f(x) = 5x2 + 5x, €14 dl hliinoﬂS - hﬁ_ =.0). a4l
If f(x) = 5x2 + 5x, then find '™ 13+ -43)

h—0 h

() M d As-l wqe Yl :

Attempt any one :

. lim Yx+2—4/3
(1) - — ol

X -2

Find 1M Nx+2-4f3 (
xX=2 D T ]
(i) x=4 22099 Aldal 2ul 531 : '

Discuss the continuity at x = 4

x2 - 16

f(x) = ~_4 > x4
=3 ; X=4

2. (a) [(asdA-l vy 2uul 24 o eedll [Qdy flx) =[x + 24 [Rsa daql. 4
Define derivativ d th nition, obtain derivative of the function

flx) =[x + 2.

2UYU/OR
[Asan R
Write the m@wzs

(b) 2 al : 10

of the following :
1
e R SRR
9

x% + 3x
log x

24ql/OR

(b) ~{lA-L 32 gxxﬂmql :

Obtain gxx of the following :

. _[+%+ﬂ +h+ﬂ
W y=|x+ i | *t 53
| (1)) xy+6y+4x—2=0
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(i) y=




ﬁ f{x) P sz o 5.1', I:_‘l’-l ('l]. hlinogs = h]i ~ @ QI]."-I].-

: + -
If f(.r) = 5.1'2 . 5.1', then find hll_l;noﬂs hlg f(S)

() 2 d sl we 24y :

Attempt any one :

" S
@) lim xxfl 2 .

XxX-»2

Find lim i‘r +....:'l ; @
x-——

x—2

(i) x=4 2090 Aldad]l 24l £330
Discuss the continuity at x = 4
x2-16
f(x) - x—4 ° x#4
' =8 s x=4
2

2. (a) [asa-l vy 204 24 [Qdd fix) =[x + 24 [@saq daql. 4
Define derivative'd ing, th nition, obtain derivative of the function

f{x)=\/._x+2.

A{Y4/OR
[AsaA-1 (A
Write the ru erivatives.

(b) -3 el

10

of the following :

x2+3x+5
log x

AHY4/OR
(b) 1A w2 gxxﬂmql :

(n) y=

Obtain % of the following :

. _|, 4x+8 +3x+9}
| O y=[x+ 5| x+3
(1) xy+6y+4x-2=0
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3. (@ () udlv AeudAl HiSH AS3-l udy weudl 0
State Bayes’ theorem of Inverse Probability. '
(i) Aeuau-l sulbidly v 20l 214 0l 531 % 0 < P(A)< 1. S

Give mathematical definition of probability and prove that 0 < P(A) <
21Y4l/OR
(a) Belsel 20l yx2al :

Explain with illustration :
(i) 429 uylaL
Random Experiment

(i) MR [HURs g
Mutually Exclusive Events

(b) Acua--l 2As eral se Reallzil A, Baid L 2ud . slvdl
el dr{l Aeuanl dudl s 51- % med Al d-l deuq wul. 5

ents A, B & C. Their prnbabi!ity of
3
vely %, 2 & % Find probability that the

An example of probability is giv
- solving the example ¢

example will be solv

% 2P(A) = 3P =3 Sl dl
(i) P(AuUB)
(i) P( aql.

B)=5P(ANnB)= %, then find value of

If 2P(A

")
, B ot C 3igll Sy ezl waieoll syl 8. dx-{l yeal)
4123wl . d A9 ABdul Hal Aourasl 2 easl A3

a5

. 1 :
2 ddl Aeuail i3 5 -_.1,; m&% 9. Albd A UAe WY 2 gl veqEY

Wit 1A d-l deua-r sl A

A vice-chancellor is to be chosen from three persons A, B & C. Their chances of
selection are respectively in the proportion 4 : 2 : 3. The probabilities that the new

o o g
employment oriented courses will be started by three persons are respectively 33

1 .
& 5- Find the probability that new courses are encouraged 1f person A is selected.
NYA/OR
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s 00Ul 5 ABE, 4 dAld A 3 S0 83l ©. ALl 641 dniell 4229 Id dal
219 ¢9.
(i) Ol % &3l S Sl

(i) 4l % &3l %el 22Ul sld d-{l Aeua-L il
An urn contains 5 white, 4 red and 3 black balls. Three balls are dr atr

from it. Find the probability that (

(1)  All are black balls
Hardl siduel ~Ael

N

(11)  All are of different colours balls.

4. (a) 2Add A4l ouldidla 24zl Al 20yl
LMl Quil.

Define Mathematical Expectation of a_di e and write any three
properties of expected value.
A1Yq/OR

vyl Y] :

Define :

(i) 521y udldl '
Central Mnmcnts\

(i) Alel u=Ld

4

Raw ts
(i) [aw

(iv)

( 2 8 wAALSL M2 UUH AR Sdld Ueldl Al 5
Qom‘ central moments of the observations 2, 4, 6 & 8. v
2Y/OR
ws Usedi 10 35 © 2 W 2 2 vl 8. % 2 3% 42%9 3d A 2ud dl

vl 2l 2Ula qva aial 214 d-l [@aRe vel daq).

There are 10 screws in a packet of which 2 screws are defective. If 2 screws are
taken at random, find the expected number of defective screws and also obtain its
variance. |

() Glmleigl 2ugeuy uad AR ALl Yaldl 1.5, 17, =30 >4 118 ©. YAH AR

591y UHLdL 21 HLS Ll 2

The first four raw moments about origin of a frequency distribution are 1.5, 17, -30
and 118. Find first four central moments and mean.

AYA/OR

TR 71 4 i 5 i




IfE(x) =4, V(x) =1, find E(x + 1) V(3x + 5) & V(3x - 5). '

% E(x)=4, V@) =1 ¢4 dl E(x+ 1)2V(3x + 5) 214 V(3x— 5) 2ll4l. ’ \

5. Yoy el Yie 43U :
Choose proper answer :
(1) %A flx) =23, g(x)=3x>-2x,x € {0, 1,2} ¢l¥ dl fau- g
(a) AHI1
(b) ws-ui5
(c) ris-2is
If f(x) = x°, g(x) = 3x2 - 2x, x € {0, 1, 2} then fand g

(a) equal
(b) one-one
(c) many one
2) A fx)= le+ 3 Sld dl f'(1) =
1
@ 3 ;

function.

© = ST

If f(x) = 35— than

@ 3 ®) 7

© 5 60 sioow ofabovs
| ®)

o0
(d) s -l

4x2+5.r=
+ 5x

(b) o
(d) none of above
x2—4x+3

x=13A9 flr) =3 —— 2L

(a)
(c)

(a) Add

(b) HAdd

(c) lsusl Al

Atx=1, f(x) =§::iizis

(a) continuous
(b) not continuous
(c) none of above
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(5) % P(A)=2P(B)=P(A|B)=0.6¢ld dl AN B)=
(a) 03 (b) 0.18
c) 02 (d) 2susL Ale

IfP(A)=2PB)=P(A|B)=0.6thenP(ANB)= : \
(@ 03 (b) 0.18
(c) 0.2 (d) none of above

(6) 429 AL x - AMLAL g2t [Qdy
P(x)=K(x+3),x=-1,0, 1
=024l ey dl K Gya %1,

(a) '51',' (b) 0.1

(c) 10 (d) (e
The probability mass function of a random vari
P(x)=K(x+3),x=-1,0, 1

= () elsewhere than value of K = |

(a) % 4 |
(c) 10 none of above
(7) A py,=2, =4, 9 dl (B,) 2t datsidl (By) i
QLY. \ |
@) 2 ®) 3
© 4 @ ;

4 = 16 then skewness (B,) and Kurtosis (3,) will be

(b)
(d)

Bl N
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